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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 30 S—07—Science
No. of Printed Pages — 7

◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2015
SECONDARY EXAMINATION, 2015

ÁflôÊÊŸ
SCIENCE

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 80

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –

All the questions are compulsory.

3. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –

Write the answer to each question in the given answer-book

only.

4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –

For questions having more than one part, the answers to those

parts are to be written together in continuity.
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5. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÊœÊ÷Ê‚
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

6. πá«U ¬˝‡Ÿ ‚¢ÅÿÊ •¢∑§ ¬˝àÿ∑§ ¬˝‡Ÿ
• 1 – 8 1
’ 9 – 14 2
‚ 15 – 24 3
Œ 25 – 30 5
Section Question Nos. Marks per question
A 1 – 8 1
B 9 – 14 2
C 15 – 24 3
D 25 – 30 5

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 28  ‚ 30 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
There are internal choices in Q. No. 28 to 30.

πá«U - •
Section - A

1. ŒÊ ‚¢‡‹Á·Ã ‚Íø∑§Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ –
Name two synthetic indicators. 1

2. ◊Ê° ∑§ L§Áœ⁄U ‚ ÷˝ÍáÊ ∑§Ê ¬Ê·áÊ ¬˝ŒÊŸ ∑§⁄UŸ flÊ‹Ë ‚¢⁄UøŸÊ ∑§Ê ŸÊ◊ Á‹Áπ∞ –
Write the name of the structure which provides nutrition to the
embryo from mother's blood. 1

3. •ÊœÈÁŸ∑§ •ÊflÃ¸ ‚Ê⁄UáÊË ◊¥ •ÊflÃ¸ ∞fl¢ ‚◊Í„UÊ¥ ∑§Ë ‚¢ÅÿÊ Á‹Áπ∞ – 
Give the number of periods and groups in Modern Periodic Table. 1

4. Á∑§‚∑§Ë pH •Áœ∑§ „UÊªË ó
(i) ⁄UÄÃ •ÕflÊ •Ê‚ÈÃ ¡‹ ?
(ii) ¡ΔU⁄U ⁄U‚ •ÕflÊ ŸË¥’Í ∑§Ê ⁄U‚ ?
Which one has high pH value —
(i) Blood or distilled water ?

(ii) Gastric juice or lemon juice ? 
1
2 + 

1
2 = 1

5. ÉÊ⁄U‹Í ÁfllÈÃ ¬Á⁄U¬ÕÊ¥ ◊¥ •ÁÃ÷Ê⁄UáÊ ‚ ’øÊfl ∑§ Á‹∞ ∑§ÊÒŸ-‚Ë ŒÊ ‚ÊflœÊÁŸÿÊ° ’⁄UÃŸË
øÊÁ„U∞ ?
What two precautions should be taken to avoid the overloading of

domestic electric circuits ? 
1
2 + 

1
2 = 1
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6. ™§¡Ê¸ ∑§ •ŸflË∑§⁄UáÊËÿ fl ŸflË∑§⁄UáÊËÿ dÊÃ ÄÿÊ „Ò¥ ?
What are the renewable and non-renewable sources of energy ?

1
2 + 

1
2 = 1

7. ∞∑§ ÉÊ⁄U‹Í ÁfllÈÃ ¬Á⁄U¬Õ ◊¥ 5 ∞ê¬Ëÿ⁄U ∑§Ê çÿÍ¡ „Ò – 100 W ( 220 V )  ∑§ •Áœ∑§Ã◊
’À’Ê¥ ∑§Ë ‚¢ÅÿÊ ÄÿÊ „UÊªË Á¡Ÿ∑§Ê ß‚ ¬Á⁄U¬Õ ◊¥ ‚È⁄UÁˇÊÃ ©U¬ÿÊª ∑§⁄U ‚∑¥§ ?
A domestic electric circuit has a fuse of 5A. What is the maximum
number of 100 W ( 220 V ) bulbs that can be safely used in the
circuit ? 1

8. •Á÷ŸòÊ ‹¥‚ ∑§Ë fl„U ˇÊ◊ÃÊ Á¡‚∑§ ∑§Ê⁄UáÊ fl„U •¬ŸË »§Ê∑§‚ ŒÍ⁄UË ∑§Ê ‚◊ÊÿÊÁ¡Ã ∑§⁄U ‹ÃÊ
„Ò, ÄÿÊ ∑§„U‹ÊÃË „ÒU ?
What is the ability of the eye lens to adjust its focal length called ? 1

πá«U - ’
Section - B

9. ¬˝àÿ∑§ ∑§Ê ∞∑§ ©UŒÊ„U⁄UáÊ ŒÃ „ÈU∞ ‚¢ÿÊ¡Ÿ •Á÷Á∑˝§ÿÊ ∞fl¢ ÁflÿÊ¡Ÿ •Á÷Á∑˝§ÿÊ Á‹Áπ∞ – 
Write combination reaction and decomposition reaction with one
example each. 1 + 1 = 2

10. (•) ŸÊÁ÷∑§Ëÿ ™§¡Ê¸ ¬˝ŒÊŸ ∑§⁄UŸ flÊ‹ ŒÊ ÃàflÊ¥ ∑§ ŸÊ◊ ’ÃÊß∞ –
(’) ÖflÊ⁄U-÷Ê≈UÊ Á∑§‚ ∑§„UÃ „Ò¥U ?
(a) State the names of two elements that produce nuclear energy.
(b) What are high and low tides ? 1 + 1 = 2

11. (•) •ÊïÊÊŸ ¬⁄UÃ ‚Íÿ¸ ‚ •ÊŸ flÊ‹Ë ∑§ÊÒŸ-‚Ë ÁflÁ∑§⁄UáÊ ‚ ‚È⁄UˇÊÊ ¬˝ŒÊŸ ∑§⁄UÃË „ÒU ?
(’) Á«US¬Ê¡’‹ å‹ÊÁS≈U∑§ ∑§¬ ∑§Ë •¬ˇÊÊ ∑§ÊªïÊ ∑§ Á«US¬Ê¡’‹ ∑§¬ ∑§ ßSÃ◊Ê‹ ∑§ ÄÿÊ

‹Ê÷ „Ò¥ ?
(a) Ozone layer provides protection from which radiation coming

from the sun ?
(b) What are the advantages of using disposable paper cups instead

of disposable plastic cups ? 1 + 1 = 2
12. ŸÿË ¡ÊÁÃ ( S¬Ë‡ÊËïÊ ) ∑§ ©UŒ˜÷fl ◊¥ ∑§ÊÒŸ-‚ ∑§Ê⁄U∑§ ‚„UÊÿ∑§ „Ò¥ ? ‚◊¤ÊÊß∞ –

What factors could lead to the rise of a new species ? Explain. 2
13. Á∑§‚Ë ÁfllÈÃ ’À’ ∑§ Ã¢ÃÈ ◊¥ ‚ 0·25 ∞ê¬Ëÿ⁄U ÁfllÈÃ œÊ⁄UÊ 20 Á◊Ÿ≈U Ã∑§ ¬˝flÊÁ„UÃ „UÊÃË „ÒU –

ÁfllÈÃ ¬Á⁄U¬Õ ‚ ¬˝flÊÁ„UÃ ÁfllÈÃ •Êfl‡Ê ∑§Ê ¬Á⁄U◊ÊáÊ ôÊÊÃ ∑§ËÁ¡∞ –
A current of 0·25 ampere is flowing through a filament of an electric
bulb for 20 min. Find the amount of electric charge that flows through
the circuit.  2

14. ◊ÊŸfl ◊¥ Á‹¢ª ÁŸœÊ¸⁄UáÊ ∑§Ê •Ê⁄Uπ ÁøòÊ ’ŸÊß∞ –
Draw a linear diagram of sex determination in human beings. 2
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πá«U - ‚
Section - C

15. (•) •Ê◊Ê‡Êÿ ◊¥ •ê‹ ∑§Ê ÄÿÊ ∑§Êÿ¸ „ÒU ?
(’) Sfl¬Ê·Ë ÃÕÊ Áfl·◊¬Ê·Ë ¬Ê·áÊ ◊¥ ÄÿÊ •ãÃ⁄U „ÒU ?
(a) What is the function of acid in stomach ?
(b) What is the difference between autotrophic nutrition and

heterotrophic nutrition ? 1 + 2 = 3
16. (•) Ã¢ÁòÊ∑§Ê ¬‡ÊËÿ ‚¢Áœ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –

(’) ¡ãÃÈ•Ê¥ ◊¥ ÁŸÿ¢òÊáÊ ∞fl¢ ‚◊ãflÿ ∑§ Á‹∞ Ã¢ÁòÊ∑§Ê ÃÕÊ „UÊ◊Ê¸Ÿ Á∑˝§ÿÊÁflÁœ ∑§Ë ÃÈ‹ŸÊ
∑§ËÁ¡∞ –

(a) Draw a labelled diagram of neuromuscular junction.
(b) Compare nervous and hormonal mechanisms for control and

co-ordination in animals. 1 + 2 = 3
17. •Á÷Á∑˝§ÿÊ CuO + H 2  →  Cu + H 2O  ◊¥ Á∑§‚ ¬ŒÊÕ¸ ∑§Ê •ÊÚÄ‚Ë∑§⁄UáÊ ∞fl¢ Á∑§‚ ¬ŒÊÕ¸

∑§Ê •¬øÿŸ „UÊ ⁄U„UÊ „ÒU ? ß‚ ¬˝∑§Ê⁄U ∑§Ë •Á÷Á∑˝§ÿÊ ∑§Ê ∞∑§ •ãÿ ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –
In the reaction  CuO + H 2  →  Cu + H 2O which substance gets
oxidised and which gets reduced ?
Give one more example of such type of reaction. 2 + 1 = 3

18. (•) ªÊ‹Ëÿ Œ¬¸áÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ –
(’) •flÃ‹ ∞fl¢ ©UûÊ‹ Œ¬¸áÊ ◊¥ Á÷ÛÊÃÊ ’ÃÊß∞ –
(‚) flÊSÃÁfl∑§ ∞fl¢ •Ê÷Ê‚Ë ¬˝ÁÃÁ’ê’ ◊¥ ÄÿÊ •ãÃ⁄U „ÒU ?
(a) Define a spherical mirror.
(b) Distinguish between a cancave mirror and a convex mirror.
(c) What is the difference between a real image and a virtual image ?

1 + 1 + 1 = 3
19. (•) ÁøòÊ ’ŸÊ∑§⁄U ◊ÊŸfl ◊¥ øÊ⁄U •¢Ã—dÊflË ª˝¢ÁÕÿÊ¥ ∑§Ë ÁSÕÁÃ Œ‡ÊÊ¸ßÿ –

(’) ◊ÊŸfl ◊¥ ß¢‚ÈÁ‹Ÿ fl ÕÊÿ⁄UÊÚÁÄ‚Ÿ „UÊÚ◊Ê¸Ÿ ∑§Ê ∑§Êÿ¸ Á‹Áπ∞ –
(a) Draw a diagram indicating the position of four endocrine glands

in human being.
(b) Write the function of insulin and thyroxine hormones in human

being. 1 + 2 = 3
20. ‡flÃ ¬˝∑§Ê‡Ê ∑§Ê ÁflˇÊ¬áÊ ÄÿÊ „ÒU ? ß‚ ÁflˇÊ¬áÊ „UÊŸ ∑§Ê ÄÿÊ ∑§Ê⁄UáÊ „ÒU ? ∑§Ê°ø ∑§ ∞∑§ Á¬˝Ö∏◊

mÊ⁄UÊ ‡flÃ ¬˝∑§Ê‡Ê ∑§ ÁflˇÊ¬áÊ ∑§Ê ÁøòÊ ’ŸÊß∞ –
What is dispersion of white light ? What is the cause of such
dispersion ? Draw a diagram to show the dispersion of white light by
a glass prism. 1 + 1 + 1 = 3

21. ÁŸêŸÁ‹ÁπÃ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬ÁáÊÿÊ° Á‹Áπ∞ —
(•) π¢«UŸ (’) ¬ÈŸL§Œ˜÷flŸ (‚) ◊È∑È§‹Ÿ –
Write short notes on the following : 
(a) Fragmentation (b) Regeneration (c) Budding. 1 + 1 + 1 = 3
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22. •ÊflÃ¸ ‚Ê⁄UáÊË ◊¥ Á∑§‚Ë •ÊflÃ¸ ◊¥ ’Êÿ¥ ‚ ŒÊÿ¥ ¡ÊŸ ¬⁄U ÁŸêŸÁ‹ÁπÃ ◊¥ ÄÿÊ ¬Á⁄UflÃ¸Ÿ „UÊÃÊ „ÒU ?
(i) ¬⁄U◊ÊáÊÈ •Ê∑§Ê⁄U (ii) œÊÁàfl∑§ ªÈáÊ
(iii) ‚¢ÿÊ¡∑§ÃÊ ß‹Ä≈˛UÊÚŸÊ¥ ∑§Ë ‚¢ÅÿÊ –
What changes occur in the following on going from left to right in a
period of the Periodic Table ?  
(i) Atomic size (ii) Metallic character 
(iii) Number of valence electrons. 1 + 1 + 1 = 3

23. Á¡¢∑§ ∑§Ë ‚ÀçÿÍÁ⁄U∑§ •ê‹ ‚ Á∑˝§ÿÊ ¬⁄U ªÒ‚ X  ’ŸÃË „ÒU ó
(i) ªÒ‚ X  ∑§Ê ŸÊ◊ ŒËÁ¡∞ –
(ii) •Á÷Á∑˝§ÿÊ ∑§Ê ‚◊Ë∑§⁄UáÊ Á‹Áπ∞ –
(iii) ªÒ‚ X  ∑§Ë ¬„UøÊŸ ∑Ò§‚ ∑§⁄¥Uª ?
Zinc produces gas X on reaction with sulphuric acid —
(i) Name the gas X.
(ii) Write the equation of the reaction.
(iii) How will you identify gas X ? 1 + 1 + 1 = 3

24. ¡’ ¬˝∑§Ê‡Ê „UflÊ ‚ ∑§Ê°ø ◊¥ ÃÕÊ ¬ÈŸ— „UflÊ ◊¥ •ÊÃÊ „ÒU, ÃÊ ¬˝∑§Ê‡Ê ∑§ •¬flÃ¸Ÿ Œ‡ÊÊ¸Ÿ flÊ‹
ÁøòÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ∑§ËÁ¡∞ –
Draw a labelled diagram to show the refraction of light when light
travels from air into glass and comes back into air. 3

πá«U - Œ
Section - D

25. (•) ¬Á⁄UÃ¢òÊ ‚¢ÉÊ≈U∑§Ê¥ ∑§Ê ‚◊¤ÊÊß∞ –
(’) ‚¢‚ÊœŸÊ¥ ∑§ ŒÊflŒÊ⁄UÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –
(a) Describe the components of an ecosystem.
(b) Explain stakeholders of resources. 3 + 2 = 5

26. (•) ∑§◊⁄U ∑§ ÃÊ¬ ¬⁄U ∑§ÊÒŸ-‚Ë œÊÃÈ º˝fl •flSÕÊ ◊¥ ¬Êß¸ ¡ÊÃË „ÒU ?
(’) Mg  fl Cl  ¬⁄U◊ÊáÊÈ ∑§ ß‹Ä≈˛UÊÚÁŸ∑§ ÁflãÿÊ‚ ŒËÁ¡∞ –
(‚) Mg  fl Cl  ∑§ ◊äÿ ß‹Ä≈˛UÊÚŸÊ¥ ∑§ SÕÊŸÊãÃ⁄UáÊ ‚ MgCl 2 ÿÊÒÁª∑§ ∑§Ê ’ŸŸÊ Œ‡ÊÊ¸ß∞ –
(a) Which metal exists in liquid state at room temperature ?
(b) Give the electronic configuration of Mg and Cl atoms.
(c) Show the formation of MgCl 2 by the transfer of electrons in

between Mg and Cl. 1 + 2 + 2 = 5
27. (•) øÈê’∑§Ëÿ ˇÊòÊ ◊¥ ⁄Uπ „ÈU∞ ∞∑§ œÊ⁄UÊflÊ„UË øÊ‹∑§ ¬⁄U ‹ªŸ flÊ‹ ’‹ ∑§Ë ÁŒ‡ÊÊ ∑§ Á‹∞

ç‹Á◊¢ª ∑§Ê ’ÊÿÊ°-„UÊÕ ∑§Ê ÁŸÿ◊ Á‹Áπ∞ –
(’) Á∑§‚Ë ÁfllÈÃ œÊ⁄UÊflÊ„UË ¬Á⁄UŸÁ‹∑§Ê ∑§ ÷ËÃ⁄U ∞fl¢ ©U‚∑§ øÊ⁄UÊ ¥ •Ê⁄U øÈê’∑§Ëÿ ˇÊòÊ

⁄UπÊ•Ê¥ ∑§Ê ¬˝ŒÁ‡Ê¸Ã ∑§⁄UŸ ∑§ Á‹∞ ÁøòÊ ’ŸÊß∞ –
(‚) øÊ⁄U ÿÈÁÄÃÿÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ ¡„UÊ° ÁfllÈÃ œÊ⁄UÊflÊ„UË øÊ‹∑§ ÃÕÊ ©U‚∑§ ‚ÊÕ øÈê’∑§Ëÿ

ˇÊòÊÊ¥ ∑§Ê ©U¬ÿÊª „UÊÃÊ „ÒU –
(a) Write Fleming's left-hand rule for the direction of force on a

current carrying conductor placed in a magnetic field.
(b) Draw a diagram to show lines of magnetic field inside and around

a current carrying solenoid.
(c) Write the names of four devices where current carrying

conductor is used along with magnetic fields. 2 + 1 + 2 = 5
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28. (•) ◊ÊŸfl NUŒÿ ∑§Ë ∑§Ê≈U ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –
(’) ◊ŸÈcÿ ◊¥ ŒÊ„U⁄U ¬Á⁄U‚¢ø⁄UáÊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞ – ÿ„U ÄÿÊ¥ •Êfl‡ÿ∑§ „ÒU ?
(‚) „U◊Ê⁄U ‡Ê⁄UË⁄U ◊¥ „UË◊ÊÇ‹ÊÁ’Ÿ ∑§Ë ∑§◊Ë ∑§ ÄÿÊ ¬Á⁄UáÊÊ◊ „UÊ ‚∑§Ã „Ò¥U ?

•ÕflÊ
(•) ◊ÊŸfl ∑§Ë •Ê„UÊ⁄U ŸÊ‹ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –
(’) „U◊Ê⁄U ‡Ê⁄UË⁄U ◊¥ fl‚Ê ∑§ ¬ÊøŸ ∑§Ê ‚◊¤ÊÊß∞ – ÿ„U ¬˝∑˝§◊ ∑§„UÊ° „UÊÃÊ „ÒU ?
(‚) ÷Ê¡Ÿ ∑§ ¬ÊøŸ ◊¥ ‹Ê⁄U ∑§Ë ÄÿÊ ÷ÍÁ◊∑§Ê „ÒU ?
(a) Draw a labelled diagram of sectional view of the human heart.
(b) Describe double circulation in human beings. Why is it

necessary ?
(c) What would be the consequences of deficiency of haemoglobin in

our body ? 2 + 2 + 1 = 5
OR

(a) Draw a labelled diagram of human alimentary canal.
(b) Explain the digestion of fat in our body. Where does this process

take place ?
(c) What is the role of saliva in the digestion of food ? 2 + 2 + 1 = 5

29. (•) ∑§ÊÒŸ ‚ ∑§Ê⁄U∑§ „Ò¥U Á¡Ÿ ¬⁄U ∞∑§ øÊ‹∑§ ∑§Ê ¬˝ÁÃ⁄UÊœ ÁŸ÷¸⁄U ∑§⁄UÃÊ „ÒU ? ¬˝ÁÃ⁄UÊœ∑§ÃÊ ∑§Ê
¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ ÃÕÊ ß‚∑§Ê SI  ◊ÊòÊ∑§ Á‹Áπ∞ –

(’) ÁŒÿ ª∞ ¬Á⁄U¬Õ ◊¥ ∑È§‹ ¬˝ÁÃ⁄UÊœ ∞fl¢ ¬˝flÊÁ„UÃ ∑È§‹ œÊ⁄UÊ ∑§Ê ◊ÊŸ ’ÃÊß∞ –

+ _

2 Ω 2 Ω

2 Ω 2 Ω

6 V
•ÕflÊ

(•) ¡Í‹ ∑§ ÃÊ¬Ÿ ÁŸÿ◊ ∑§Ê ∑§ÕŸ ∑§ËÁ¡∞ – ÁfllÈÃ ’À’Ê¥ ◊¥ ÷⁄UË ¡ÊŸ flÊ‹Ë ŒÊ ªÒ‚Ê¥ ∑§
ŸÊ◊ ’ÃÊßÿ ÃÕÊ S¬c≈U ∑§ËÁ¡∞ Á∑§ ßŸ ªÒ‚Ê¥ ∑§Ê ÁfllÈÃ ’À’Ê¥ ◊¥ ÄÿÊ¥ ÷⁄UÊ ¡ÊÃÊ „ÒU –

(’) Á∑§‚Ë ÁfllÈÃ ßSÃ⁄UË ◊¥ •Áœ∑§Ã◊ ÃÊ¬Ÿ Œ⁄U ∑§ Á‹∞ 840  flÊ≈U ∑§Ë Œ⁄U ‚ ™§¡Ê¸
©U¬÷ÈÄÃ „UÊÃË „ÒU – ÁfllÈÃ dÊÃ ∑§Ë flÊÀ≈UÃÊ 220 V  „ÒU – ÁfllÈÃ œÊ⁄UÊ ÃÕÊ ¬˝ÁÃ⁄UÊœ ∑§
◊ÊŸ ¬Á⁄U∑§Á‹Ã ∑§ËÁ¡∞ –

(a) On which factors does the resistance of a conductor depend ?
Define resistivity and state its SI unit.
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(b) Give the value of total resistance and total current flowing in the

given circuit. 2 
1
2 + 2 

1
2 = 5

+ _

2 Ω 2 Ω

2 Ω 2 Ω

6 V
OR

(a) State Joule's law of heating. Name two gases which are filled in
electric bulbs and explain why these gases are filled in electric
bulbs.

(b) An electric iron consumes energy at a rate of 840 W, when
heating is at the maximum rate. The voltage of electric source is
220 V. Calculate the value of current and the resistance.

2 
1
2 + 2 

1
2 = 5

30. (•) ‚◊¡ÊÃËÿ üÊáÊË ∑§ ÃËŸ ªÈáÊ Á‹Áπ∞ –
(’) ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∞À∑§ËŸ ∞fl¢ ∞À∑§ÊßŸ ∑§Ë ¬„UøÊŸ ∑§ËÁ¡∞ —

(i) C 2 H 6 (ii) C 3 H 4
(iii) C 3 H 6 (iv) C 3 H 8.

(‚) ∞ÕËŸ ∑§Ë ß‹Ä≈˛UÊÚŸ Á’¢ŒÈ ‚¢⁄UøŸÊ ’ŸÊß∞ –
•ÕflÊ

(•) ∑§Ê’¸Ÿ ∑§ ŒÊ ÁflÁ‡Êc≈U ‹ˇÊáÊ Á‹Áπ∞ Á¡Ÿ∑§ ∑§Ê⁄UáÊ fl„U ’«∏UË ‚¢ÅÿÊ ◊¥ ÿÊÒÁª∑§ ’ŸÊÃÊ
„Ò – ∑§Ê’¸ÁŸ∑§ ÿÊÒÁª∑§Ê¥ ◊¥ •Ê’¢œ ∑§Ë ¬˝∑Î§ÁÃ Á‹Áπ∞ –

(’) ∞ÕŸ ∑§ ŒÊ ©UûÊ⁄UÊûÊ⁄U ‚ŒSÿÊ¥ ∑§ ‚ÍòÊ Á‹Áπ∞  –
(‚) ∞ÕŸ ∑§Ë ß‹Ä≈˛UÊÚÚŸ Á’¢ŒÈ ‚¢⁄UøŸÊ ’ŸÊß∞ –
(a) Write three properties of homologous series.
(b) Identify alkene and alkyne from the following :

(i) C 2 H 6 (ii) C 3 H 4
(iii) C 3 H 6 (iv) C 3 H 8.

(c) Draw electron dot structure of ethene. 3 + 1 + 1 = 5
OR

(a) Write two features of carbon which lead to form huge number of
compounds. Write the nature of bond in organic compounds.

(b) Give the formula of two higher homologues of ethane.
(c) Draw the electron dot structure of ethane. 3 + 1 + 1 = 3
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